220 L=7.510

a)
220
b)
15
34 2 36
504 24 532
c)
15
20
130 174 304
103 64 167
d)
19 27 27 10
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b)

15
20
34 2 0 36
504 24 4 532
c)
15
170 174 344
155 64 219
d)
19 27 27 10
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H13

H
H4 25 H4
H4
H6
H11
27 25
H12 27 1.60km
W=15.0m
H13 27
H15
H19 27
L=7.510m
L=1800m . =130 L=% iM)m
2

15
26

-

27

14

14
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14 24 15 27
0.2 m
19
14 9 27
9 30
10 2
14 7 1
13 6 27
6 28
11 22
11 27
11 28
14 7 1
7 4
7 5
11 22
11 27
11 28
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0.6 /km 0.2 /km

3.50m = 3.25m
1.50m 0.75m - 0.75m
1.50m 0.50m

15 8

L=3.9km
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4.1 /

81

20km/h

25 1S0

/12h
40

1,000 /12h
100 7/
500 7/

500
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€02
482t-c

NO2
6.2 20.1

SPM
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8.6

14,500 7/

482t-c
6.2

34

100

20.1

86
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